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| Beynords

to do? Sequence: items or numbers put in a pre-decided order
) o 11 Term: a single. number or variabe
E'3g the.end of tis un uou shouk be. abke tor Posttion: the place. something is located

Generate a sequence. from term to term

|
|
|
[
: Linear: the dfference between terms increases or decreases (+ or -) by a constant value each time
| or posttion to term rules

|

|

|

|

|

Non-inear: the difference befween terms increases or decreases in different amounts, or by x or +

*  Recognise arithmetic sequences and find
- “ Difference: the gap between two terms

the nth term
*  Recognise geomelric sequences and QOrithmetic: a sequence where the difference between the terms is constart
other sequerces that arise Geometric: a sequence where each term is found by multipyng the previous one by a fixed non zero
number
I
 Linear and Non Linear Sequences l Sequence in a table and araphically
| Linear Sequences — increase by addtion or sublraction and the same amount each tme. | | Position: the place i the sequence
| Non-inear Sequences — do not incresse. by a constant amount — quadratic, geometre | : ~a | L] 3
| and Fibonacel | ] The temn

Do ot pht s straight Ines vihen modeled graphealy | : | | |

*  The differences between terms can be found by addition, subtraction, mutipication or |
duision | : 3 D 7

I} Tem:the number or varisble f

position 3
has 7 squares’

I
I
I
| Fibonacei Sequence — ook aut for this tupe of sequerce Graphicaly
I 4 1 5@ﬂ656‘1 II (the number of squares in each image)
10
: O | l 3 .e .\ { I h m E 8
| | na Position | 1 | 2 | 3 g '
| Each term is the sum of the previous two terms /B { | Term 3|ls |7 R ¥
et s o bl et e g e ) prndiead i :
| . K * o 1 2 3
[ SMWS ffom ahﬂbfal'} r’U|€S This s substitution! | | Becaise the terms incredse by the same addition each tme this Position
I 3n+7 5n2+7 {l s Inear — as seen i the graph
I . Msconceptions and comparsons
: This wil be inear - note the sngke Ths s rot inear os thee sa | | Complex “hebm'c rukes | p :
| power of n The valtes incresse at a power forn | | |
| constont rate I |
Substitute. the number of the term you are lookng for | | |
€9 | |
| Elom-2()-5--3 1 |
Jrdtemn = 2()-5--I I lstt @x |P=4
I t ‘2 = erm = X - l
| 100htem - 2(100)- 5 - 1% [: ;:g,":ﬂ ;Xxl;- ttem - (2x 2= 16 |
| Checking for a term in a sequence fom m eavien : | 100%term - 21003~ 2000 100™tem - (2 x100 ¥ 40000 |
I 1
| 5 201nthe sequerce 3n — 47 o Temtocheck || » |
” | / I
| o 3n—-4-=20] Il nin+5) «— Rem 109 You donft reed o
| Qlgebraic ruh 1 nin Xtem=-2(2+5) - 14 expand the I
| Solving this wil find the. posttion of the term in the sequence 100 term = 100 (100 + 5) = 10500|  expresson |
| ONLY an integer sobtion can be in the sequence. | | |
() Findng the aloebraic e

times table

fested o 4 8 12 16, 20.... /‘ R

4” # ¢ ¢ This is the comparison
7 l | |5 Iq 2 2 <«— diference —but s 3more than | difference between the terms original and new sequence
the orginal sequence in the sequence

dn+3

I |
I |
I |
I |
| |
I |
I This has the same constant This is the. constant (dfference) betweenthe | |
| |
| |
| |
I |
| |




